BEREER

T H—f—F LUTA H—F—F
147 D3 Bkt y b KR 5133

L=5724
862 2000 2000 862
BZE | |
I
|
Low |
D=3300 “ L=5724 ~
D1=3138 180 .
F F W BERTER
IR TRy -+ EEER
-2 LILRET LT LT N S8 (/) i1 (/)

% ” il H U i L 50 100 30 50 100

=2 b e [a-b[ e |a-b] a-b[ e [a-b] e [a-b] e
33 | 57 | 1250 | 300 | 1150 | 300 | 1000 | 300 | 650 | 325 | 600 | 300 | 600 | 300 @

188 . |0
G.L G.L
Z Z | =
3 8l 3
a 862 2000 2000 862 a @
BIEROBE tHavy ) - EREROES @
SR THEE %% m &[E %|F R_E] mAEn B
- = NEE

' ) - @@
L ® fEI-A1




